x X (x3)4 x x3 = x1H12+3 = 416




RE N=2H? (A 37H)

@ a®xa’*xa®=ad8

(@)x2xy4><x6xy2 — 180

@a?xa?xa® =a*t?+2 =4

@ (x3)2 X x2 X (x2)2 —

x3><2 2X%2

X X2 X x

— 6+2+4 _ 12




3. 3xty =+ (=3x%%) x 2x%y* & 75| ShAE?

1
(@)—2x4y2 @) _ﬁ ® 2)c4y2
@ —18x4y12 @ 9xy2

B

3xty + (=3x2y3) x 2x%y*
1
= 3x4y X ?2))3 X 2x2y4

= —2x%y?




4. PP xS =y Q[ oto] gwre 2 AHdiE & A

°9

@ 15,12 @ 8,8 @7,9 @ 5,11 ® 11,7

X0y3 x 20 = xP+23+6 — x7)9 o]},
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@ 12

® 13

A, a+b+c 9 FHe?

(@)14

® 15

xlOZQa

6—2a=2
2b =4
c=10

xC

y2b26 - y4Z2

La=2

Lb=2

La+b+c=14




9a = 3vt2ol2tal & uf, 27 9] & o 2 WERHTH?

Dt @& 02 @d O

9a =3"%x3%2=9x3"
L a=3"
27% = (33)x — <3x)3 — a3




7.

~3a%b x (~4dab) =[]

A=Y

@® —6a® @ —6ab

® 6a

@ 6a?b

[ ]=12a3b2 = 24 =

12a3b?

2a2

-3a%b x (—4ab) + |:| — 12a3p2 = \:I — 242

= 6ab?




(x%y72) = x5y1222 A W, a+ b+ ¢ O] F27

o7  @s ® 9 @10 ®1u

ac ,bc 6,,12_3

(xy2)" = xyreeh = xOy'%

2c =06, ac =12, bc =3

c=3,a=4,b=1
a+b+c=28







O3} Zro] AD = 2xcm, CD

E]_% 3 C A /2$Cm\
Q1 Az ABCD 7} lth. ADE £0.2 13
HAAAA A 31AA| o] Hul=CDE 02 1
SIAAAAM 7] 3]7AA o] Hulo] & uj Q1717
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@i oiwm oilw o lw
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3 9
CDE £2= 3HA7] 3]x4| 9] £ :
1 4
7% (2x)% x 3= §7rx2y
2 o4 o 2 3 Y 4
g™ T3 = g X e = 6 )




